Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030420:GEO18

GL—-UD:030420; 1-69 —

IIIIIII| I IIIIIII| I T T TTTH

amp=3.62E—08 f> 10Hz 1
amp=8.64E-08 > 1Hz |
amp=<.31E—-07 f>0.1Hz

101

100 10! 10%

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030420:GEO018 window= 1

I I T III| I I T III| I I T III| I I [ III:

- GL—NS:030420; 1-69 —
- amp=4.09E—-08 f> 10Hz1
T amp=8.52E-08 f> 1Hz |
—\-/ 7\ amp=5.49E-07 {>0.1Hz 3

| | L1 1 III| | | L1 1 III| | | L1 1 III| | | L1 1 |
101 100 10l 107
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10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030420:GEO18 window= 1

I I T III| I I T III| I I T III| I I [ III:

- GL—EW:030420; 1-69 —
2 amp=5.56E—-08 f> 10Hz"
| amp=8.30E-08 f> 1Hz |
amp=4.95E-07 >0.1Hz -

| | L1 1 III| | | L1 1 III| | | L1 1 III| | | L1 1 III_
101 100 10l 10°

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030420:GEO018 window= 1

I I T T TTT | I I T T TTT | I I I T T TTIT | I I I T TTT I:
UG—-UD:030420; 1-69 —
amp=1.83E-09 f> 10Hz"

- amp=1.97E-08 f> 1Hz |
e amp=1.96E-07 {>0.1Hz -

| | IIIIII| | | IIIIII| | | IIIIII| \.ILIII_
101 100 10l 107

Frequency (Hz)

102

106

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

data; seg= 8192 tot= 360600 overlap= 0.75

g Dseg= 69 kek(030420:GEO018 window= 1
107 I I T T TTT I I T T TTT I I I T T TTIT I I I T TTTH
| | | -
- UG—-NS:030420; 1-69 — 107°
2 amp=2.10E—-09 f> 10Hz"
o-12 | amp=1.37E-08 f> 1Hz | 106
TN/ amp=4.45E—-07 £>0.1Hz -
0-15 L ;
- ~ - - _ _§ 10*8
10~ 18— _; 10-9
jo—=l — ]
| | IIIIII| | | IIIIII| | | IIIIII| | | | \IIIII_ *11
101 100 10l 102"

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek(030420:GEO018 window= 1

I I T III| I I T III| I I T III| I I [ III:
UG—EW:030420; 1-69 —
amp=3.46E—-09 f> 10Hz1

- amp=1.26E-08 f> 1Hz |
_________ amp=4.26E—-07 £>0.1Hz -

| | L1 1 III| | | L1 1 III| | | L1 1 III| III_
101 100 10l 10°

Frequency (Hz)

102

106
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10~ 9

10— 10

10— 11

Integrated Amplitude (m)



GEO018.001
GEO018.004

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
UD :kek030420:GEO18
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Frequency (Hz)



GEO018.002
GEO018.005

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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kek030420:GEO18
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Frequency (Hz)
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GEO018.003
GEO018.006

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
EW kek030420:GEO18

I
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100 10! 10%

Frequency (Hz)



GEOlBOOl data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE018.004 UD :kek030420:GE018

1.0

—
o
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—0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



GEO018.002
GEO018.005

1.0

©
o

Correlation
(@)
o

—-0.5

—-1.0
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
kek030420:GEO18

=

101

100

Frequency (Hz)

10!

10%



GE018008 data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GEO18.006 EW :kek030420:GEO18

1.0

—
o

__== | | | | | | | | |

Correlation
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Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GREO18

‘UD:GL,/UD

L1 L 1IIT]

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030420:GE018

I I T |||| I I T |||| I I T |||| I [ |||:

- GE018.001 , 1— 0 —
R amp=3.62E—-08 f> 10Hz1
- amp=8.64E-08 f> 1Hz |
s amp=2.31E—-07 £>0.1Hz -

B l'l‘ _____ = ]
B ] \\\ \ _E
. rgain= 1. N §
Noise Int.Amp. .

- amp=3.34E-08 f> 10Hz TS
 amp=7.58E-08 f> 1Hz ‘\f
amp=1.17E-07 £>0.1Hz | -
10-1 109 101 10

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030420:GE018

I I T IIII| I I T IIII| I I T IIII| I T IIII:

- GE018.004 ; 1—- 0 —
R amp=1.83E-09 f> 10Hz"
- amp=1.97E-08 f> 1Hz |
R amp=1.96E-07 >0.1Hz 3
— Wlbseld —
. rgain= 1. | .
Noise Int.Amp. .

- amp=1.49E-09 > 10Hz BE
 amp=1.28E-08 > 1Hz .
amp=7.27E-08 f>0.1Hz | g
101 109 101 0%

Frequency (Hz)

Integrated Amplitude (m)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69
E I I I |||||| I I I |||||| I I I |||||| I I I |||||E
- GEO18 :NS:GL/UD .
]
E_ | | | IIIII| | | | IIIII| | | | IIIII| | | | IIIE
10~ 1 109 101 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030420:GE018

I I I IIIII| I I I IIIII| I I I IIIII| I I IIIII:

- GEO18.002 ; 1—- 0 —
- amp=4.09E-08 f> 10Hz"
T N\ amp=8.52E-08 f> 1Hz
amp=5.49E—07 £>0.1Hz 1
_::::::::?11111 . _é

— v(»‘l'ﬂ h W’I‘\ i
. rgain= 1. §
Noise Int.Amp. .

" amp=3.77E-08 f> 10Hz N
 amp=6.71E-08 > 1Hz .-
amp=1.71E-07 f>0.1Hz | \
10~ 1 109 101 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m~/Hz)

109

10— 1%

10— 19

10~ 18

10— <1

data; seg= 8192 tot= 360600 overlap=

0.75

nseg= 69 NS :kek030420:GEO18
I I T III| I I T III| I I T III| I I T III:
- GEO18.006 ; 1— 0 —
R amp=2.10E—-09 f> 10Hz1
| amp=1.37E-08 f> 1Hz |
RN amp=4.45E-07 £>0.1Hz S
B t | B
. rgain= 1. §
Noise Int.Amp. .
- amp=1.82E-09 > 10Hz 3
 amp=1.02E-08 > 1Hz l .
amp=1.19E-07 £>0.1Hz | V-
101 109 101 102

Frequency (Hz)
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106

Integrated Amplitude (m)



Ratio

10<
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100

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

GREO18

EW:GL/UD

L1 L 1IIT]

101

100 10!

Frequency (Hz)

10°



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 EW :kek030420:GE0O18
I I T T TTT | I I T T TTT | I I I T T TTIT | I I T TTT I:
- GEO18.003 ; 1—- 0 —
R amp=5.56E—-08 f> 10Hz"
BTN amp=8.30E-08 f> 1Hz |
e\ amp=4.90E-07 >0.1Hz -
I Rl _;
. rgain= 1. %
Noise Int.Amp. -
- amp=5.14E-08 f> 10Hz NI
 amp=6.98E-08 > 1Hz e
amp=1.93E-07 £>0.1Hz | o
10~ 1 109 101 102

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

EW  kek030420:GEO18

GE018.006 ; 1— 0

. rgain= 1.
Noise Int.Amp.
- amp=<.30E-09

f>
 amp=9.204E-09 >
amp=1.37E-07 £>0.1Hz

amp= 126E 08 >

10Hz
1Hz

amp=4.26E—-07 f>0.1Hz

1Hz |

101

100 10!

Frequency (Hz)

10

106

Integrated Amplitude (m)



HV Ratio

12.5

10.0

7.5

5.0

2.0

0.0

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030420:GEO18

0.75

window= 1

Amplitude Ratio:GL

| I | | I | | I | | I | | [
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10~ 1

109 101
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HV Ratio

12.9

10.0

7.5

5.0

2.5

0.0

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030420:GEO18

window= 1

Amplitude Ratio:UG
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100 10! 10%

Frequency (Hz)



